
h 2 5 squares 5mV 12.5mV

Vin 3 squares 5mV 15mV

Y E

Paul Meyer Reimer
~ 0.707=1/sqrt(2)=-3dB

Paul Meyer Reimer
Phase shift  of V_out ~ -1/8 of a period =  -45 degrees



É y too mu 540mV

0.55 IU 0 55 U

Vin 511 u 5V

Paul Meyer Reimer
phase shift ~  -90 degrees



FABI
V at 4.4 U

Vin 4.80

Paul Meyer Reimer
Phase shift is close to 0 (slightly negative)



Square Wave at 10 t fade

at fats



at Yofats

The DC component shifts the Vin but
does not affect U out

With the resistor connected to 50 on

the lower end Vin and Vout read the
same there is no filtering



0.01mF can't go backwards

a Atte through the diode

10k

t
Low Pass Fleter

To F3dB

Von 2.4120
4.8 V

Vint 2.4120

4.8N

Paul Meyer Reimer
phase shift close to 0 (maybe slightly positive?)



F3dB
Vout 2.41107 2.40

Vin 3 5 IV 3.5V

Y

10FzdB

Von 3 6 100mV
0.36 U

Vin 3 I V



This is a lo pass filter so the lower

frequencies go through with almost
no change

and higher frequencies are reduced or

filtered out

1073dB

toFIB


